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— Tassy nwian a9 ko0 99
And if you will say; let us derive from 2321 nuna

OVERVIEW

The X713 is attempting to derive the rule that the 1w17°p 702 of a 77¥1 belong
to her father. The current suggestion is that we derive it from 2391 nw12. If a
person is DIXM a 717v1 he must pay (in addition to the 0ip of 70> o*wnr) for
the 5"12 he caused. This money is paid to the father. We can therefore derive
that just as 8"12 is given to the father, so too should the w17p 7o> be given
to the father. The difficulty with this is that the only source that 5"12 belongs
to the father is from PU7°P. Since presently we do not know that 7217
belongs to her father, we cannot know that "12 belongs to the father, etc.
moon will explain this matter.

nooIN asks:
— D)9 HVIN PYITP 992 913913 sya Y597 NN
It is astounding! How could have the X n) stated that we should derive
PRI7TP from 232 NI (that just as 09 NYM2 of a 7OINRIW w1 belongs to the father,
similarly the Pw17p 702 of a 77¥1 belongs to her father); this is inconceivable -
— PYITIPN ROHN AND 1AV 199977 XD N9 D)9 NYIA XN
Since we do not know even concerning 232y nua itself that it belongs to
the father, only from °2Y75p. moon now shows that we derive that 239 N3
belongs to the father from 7"W17°p -
- 21’1‘\\0 1199129 UN11IY 1Y 901 Y2 INT (3,1 97 mana) MIYI 1IN 9102 9INY
For the X173 states in the end of N1 YoR P19, that the reason 0301 N2 of a
701w 771 belongs to the father, for if he so desired he could have
delivered her (married her off) to a o2 5721 9111 which would have caused
her 2391 nw1a. It is only after we know that the father has the right to be wpn her to
whomever he chooses, that we can assume that 0391 n212 belongs to the father. Here in
the X723 we do not yet know that the father can be w7pn a 771, therefore we do not yet
know that 231 nw1a (which is derived from 77v1 *¥17°p) belongs to the father. How can
we say now (at this point) that we derive that 7°2X% 7791 *17°p from 20391 nwa?!

! nwa is the shame she endures because she was 101Xk1; while 030 is the depreciation in her value since she
is no longer a 771n2.

> A 9nm is a disgusting person and a 1Rw 727 is one who is smitten with sores and lesions. These people
are willing to pay additional money to marry a ‘normal’ girl. The father can force 77¥1 112 to marry this
person (which causes her 0301 nw12) and the father takes the money (including the extra money paid). This
proves that 0391 12 of a (HOIRW) 77v1 belongs to the father. Otherwise the money of her shame and
degradation for marrying this Pnw 7511 911n should go to her.
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mooIn attempts to offer a solution:
— VP NMNYI NY Y91 Y3 INT XN o NPT NN I

And if you will say that we can derive that 2391 nw12 of a 77yl belongs

7°axY for he could have delivered her when she was a mwp to a 70w m
7Y (no one contests that) -

— MY 4N NT NI NY T M
And this shame would have continued even in her n19¥: year. This proves
that the father controls the 091 nw1a of a 77v3; he can cause her (by marrying her off
when she is a 71vp) to suffer N2 when she is a 77wi. It therefore follows that if he
controls her "3, then if she was 101X31, the 8"12 belong to the father. We can now derive
Tw17°P from 5"32. This would seemingly resolve the issue.

mooIn rejects this explanation; for -
— NNAYV INAN AN HY DI NV XA ‘NNa NIHIWS 0) 12 ON

If this is so (that we can derive 0391 N2 of a 71 belongs 7°aKY since he
could have married her off 911117 when she was a 71vp), then even when she
is a N33 and someone was 0IX1 her, the 5'"12 should belong to the father
for the same reason; the father could have married her off to a 9171 when she was a
7P and she would suffer the shame into her n7312 years. The fact that the 5™2 of a n7a12
belongs to her, indicates that the right which the father had to be w7p» her when she was

a 1P does not extend into her N2 years; the same applies by a 717v1, that even though
the father could have married her off 7nIvP2, it gives him no right to her 7n17v12 5™2.

moon answers, defending the previous answer:
— SMApY 1903 3T KT 919 W
And one can say that na32 is not similar to MY, We can use the argument
(that he could have married her off n1vpP1) concerning a 77¥1 (that the 8"32 of a 77,
belongs to the father) but not concerning the 8"12 of a n7x12. The difference is -
— °NnY N9 B91 NA9IN 199995 N5 917
That granted we cannot derive from 2°37: n9577 the entire concept that a
7Y is AR MwN21 [also] regarding 1W17°R 703, however —
— 13P5T NONN 23 MY 913 NON ANN ND TIVNS XYY 192999 NN )ayd

3 Others amend this to read Xn.

4 A 1 is a mature woman; she attains this status six months after she became a 77v1. The 0391 n¥12 of a
N2 belongs to her for she is a completely independent woman.

> See “Thinking it over’ # 1.

® The X7 said that we cannot derive that the PYITP 703 of a 17w belong to the father from o771 N197
(where the 77v1 is 72k mwn3), for X1»n (the money should belong to the father) cannot be derived from
RMO°X (that the 771 is 728 Mwna for 2°771 NY97). We cannot restrict the 771 based on 2°371 n797. However
we can release the N2 from 7728 MW based on the fact that he cannot be 17°771 797, The reason he cannot
be 77771 79°1 is not necessarily a MK 7°7 but rather it indicates that she is no longer ‘his’ (daughter).
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Concerning this matter that the power of the father should not extend
beyond the nmy: s»d, this we can derive that from 2°771 n757, as is

indicated later’” where the x 3 states this 1"p -
— 9919 ANININY MNa PIN DIV PNININ AN NIV PRININ PPRY P3N0 NN

And what if P22 which do not remove the daughter from the possession
of her father, nevertheless they remove her from the possession of the

master; then m32 which does remove, etc. the daughter from the possession of
her father, can surely remove her from the possession of her master. This concludes the
citation of that X73. The X723 there categorically stated that m732 is XX from the MwA
of the father. M0 comments -

— 434 999 81’\01‘1".75 AN VI NI MIN2T NN 1D N
And indeed how do we know that n1932 is a8 nwan X°Xm regarding

P17 and all other matters -

— 0997 9911 192997 IND N
If not that we derive it from 2°971 n98:7. Just as concerning 0°371 N7977 once the
n2 becomes a NIA12 she is no longer X7 MwO2, the same applies to all other issues.
Therefore even though the 5™2 of a 7oIXIW 771 belongs to the father since he could have
been 1% 7701M, however concerning a n722 this reasoning is invalid since a n7M1 is
definitely not 2x7 Mwn2.

NN is not satisfied with this answer:
—Mmvpa 1Y 90 Y2 INT NNYN NIYN NRYLvaT ) 12e~] 9z~wm NY 1M

However this reasoning does not appeal to M»01n; since the rule that the
father receives 5™2 for 77yl 102 is dependent on the reasoning that he
could have delivered her to a 151 91111 when she was a 73vp and therefore this
5"12 extends to M V1 -

— 11993 115 MINAY NT 92T Y
This reasoning is equally applicable to m932 as it is to M. The father’s
actual right was only when she was a 7wp. If we use the logic that the N2 extends to
My it should extend to M732 as well; there is no reason to distinguish between the two.

The original question of N1YOIN remains, how can the X713 state that we should derive
ARy w1 v R from ™31 if we only know that ;77282 8™2 from 77y3 W1Tp.

In summation: The &7 wants to argue that we should derive 7°a8% 7931 *W17p from the
fact that ™32 from a 70IRIW 771 belongs 7°ax%. However, Mmoo questions this; since we
only know that 5"2 belongs 71°aR>, after we know that the father can be 79v1 12 wIpn to a

7 x,7. The X3 there cites a 1"p that an X can be TR MW M Xx1 when she becomes a N2 (in the case of
an NP1»R, when she never is a 7y1)

¥ The father can longer be w7pn her after she becomes a n1312. He also no longer owns her 7 mwyn, etc.

? See “Thinking it over’ # 1.
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21 n and receive the IR H03. MdOIN initially attempted to answer that we do know
that the father can be 7P 02 W7pPn to a "M1n which would cause the 771 to have "3
7MAavia, proving that the ™32 of a 7v1 belongs 7°aR%. Therefore the 5™2 of a 7oIRIW 771
belong 7°2K8%. We can now derive that P 7P 705 of a 771 belong 7°2K8% from 5™32 of a
7oIRIY 7171, However, mooin refutes this reasoning that since he could have married her
nMavpa that proves that he owns the 5™32 of nMAwva, for if this reasoning is true it should
apply to a n732 as well. The father should receive the 8"32 of a 70w N2 since he
could have married her invpa. This is obviously not the ruling; which proves that we
cannot extend any right which the father had fimvpa to her period of Myl (and MAa2).
The initial question remains; how can we derive 2R 771 W17 from 5™3, when 5™2 is
derived from 77v1 W17p.

MDOIN answers:
— 10D 9991 99N NN IP¥Y 91919 AN )aY

Therefore it seems proper to explain that previously when the X3 asked,

‘and let us say that these words apply to a UP’, the X3 was not referring to
the P105 of "31 NN °NA N, but rather the X3 -
— 92N 9P IR MUY 79V N3P Py

Meant to say that regarding a ;7wp it is possible to utilize that "', namely -
— DSY YTPY 95 595 NY PRY 113 NODI NIPUN SN NOWITH YN NYaN NNYNT

‘That now when her father accepts the 121752, can she take the money!’
this 1"p is valid concerning a 71vp since she has no ‘hand’'! at all to be

woPn herself (the X »3 is referring to this 1"p as *»°n °17) -
— N9vD b?‘PVJS’“ YA VWIPN YN P 1Y HOINT N9V YaN

However a 179v1 who has a 79, let her be w7p» herself and take the money
for herself -

— YWY PYITPN 1N DNANY YR T 1Y WT 11 W19
The explanation of the question is that since she has a 7> to be wpn

herself the >w179p q02 is hers -
— AVTPY 919 NPAN NP NONW DY XD DN YaN

' The word =% indicates that the explanation is not as we initially assumed. We may have assumed that
the phrase of 71vp n"7 XX means that the 7105 of >n2 nX refers only to 71vpP; indicating that only by a 7P
does the father have the right to be w7pn her and (therefore) receive the 1w17°p fo3, however by 771 the
father cannot even be w7pn her (and therefore is not entitled to 7w17°p 103). However nvoin explains that
7R n"n XX refers to the 1"p of 121 2R Xnwit (but the 2109 of *n2 nNX refers to a 771 [as well]); that only
by a nm1vp can we utilize the 1"p that if he is 92pn the 1217 he retains the money. However by a 77w this 1"'p
can only apply only if the father is w7pn her, but if she is w7pn herself (as she has the right, for she has a 77),
then perhaps she should retain the 7o2. How can we be sure that even if the 77wl is w7pn herself,
nevertheless the n03 belongs 7°ax?? This is what the X773 is trying to prove. [See ‘Thinking it over’ # 2.]

" The concept of a 7 (hand) is that it can acquire and own. A 7P cannot acquire anything since she is not
considered to be a ny7 n1.
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However truthfully even when she is a 79p: the father can also be wypn

her* -
_ 359 PUYPPN 1505 IX DYTIN 1XANYS)

And when her father is w7p» her, then the P2175p 700 are his.

mMooIn now addresses the initial question:
— NPAN AYTPYI 519K NPT Puhe NOWID XN XY

And now the previous question can be settled; for the »105 of *nni°n2 nX,

is discussing a case where her father was wTp» her, and in such a case all
agree that the 717°p belong to the father, whether she is a 771 or a mvp.

mMooIn now explains how the X773 in M2 derives that 7°ax? 5™a:
— ¥vax Yy DAY NOaN » P HyY PYITIPN DI NVIA 92D ONNY

And there in M210> 'on the X773 derives that 5''13 of a 70IXIW 77v1 belongs
to the father from the case of Pw17>p which the father performed, where
the 1w17°P 702 belongs to the father.

mooIn now explains that our XX derives that aR> WP q0d even if she was WIpn
Ry

— 09 NN 992 NN 29 9IND 991 NN
And here in our X3 this is what the X723 means; ‘and if you will say, let
us derive that 7°aX? 1°v17°p from 2'"12;° meaning we will derive that (even) -

— 09 NN NPAN HY RNIY NNSY 1 HYY PYWITID
1en7sp that was performed by her, belong to her father, we can derive
that from 2''13, that just as 5™2 of a 70IXIW 77v1 belongs to the father, similarly the 703
Tw17°P that she received also belongs to the father.

mooIN explains the advantage of deriving that 7nxy *"yw BW17°P 701 goes 1°2KR? from 53,

as opposed to deriving it from 72X >"'yw PP
— 0N 927 N7 HY IRV 1NI9DY NID NPAN YWITPN INTY 95

"> This is derived from the 105 of *nN1 °na nX which is obviously discussing a 77w1 (in addition to
discussing a mvp as well). We derive from this 105 that a father may be 102 w7pn when she is a 771, and
by utilizing the abovementioned 1" derive that in this case he retains the w17 702.

" See X"wmn who interprets 9°¥%7 XWIp to mean the question that Moo asked X2X1 71"72. According to
this vw» that question is answered. For the X773 is not asking that perhaps the 2109 of *na nX is referring to
m1vop. The P09 of °n2 X is indeed discussing a 77v1. Rather the X3 is asking that nevertheless perhaps a
771 can also be w7pn herself and keep the Pw17°p qo3. It would seem that nvoIN is also referring to the
question in the beginning of this nvOIN.

'* The father has the right to be w7pn her when she is a 77w1 (as previously mentioned) to a 21, causing
her 5™12. This proves that the father owns her 5™12. Therefore he collects it if she was ;770181 See “Thinking it
over’ # 3.
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For we certainly cannot derive 7%y *"vw Pw17p should belong 7°ax> from

AR V'YW PRNTIP, for TnxY V"yw PUnTP were done completely by her; she
accepted the w17°P, how can you compare that to 7°2R >"vw 7w17°2 where she did not

participate at all!"
— PPAN VTN N7 DY IIRY DI NV D> 7NN NDINHN JaN

However initially we derived that 2'"12 of a 0i1X» which was not done
through her, it was not her choice to be 70iX1, therefore it can be derived

from 2R S¥7P. Both cases have in common that it was not done through the
consent of the 77wl Therefore just as by R *"vw w1 TP, where the 77v1 did not
participate, the 70> belongs to °aX, so too by 5™32 of 70Xl where she also did not
participate willingly, the 702 goes 7°2K%. Once we have established that 5™2 belong °ax>,
then

$PPAN P DY 1INRY NNN N DY NINY NN 999100 NIIN 991 9N3)

Afterwards we can derive that 71 7P which is "y should belong to the

father, from 5"12, in which the father did not participate. Just as ™2 belongs
to the father even though he did not participate in the acquisition, similarly by *"yw Pw17°p
mnxy, even though the father did not participate, he is entitled to the w17°p 703 as he is
entitled to ™2.

SUMMARY

We cannot assume that since the father can marry off his minor daughter to a
911, that therefore he owns the 5™ rights of a 79v1.

It is presumed that the father can be w7pn his 777v1 102 and retain the 7o2. The
issue in the X713 is to prove that he can retain the 702 even if she is wpn
nxy. We derive from 72X "vw 737v1 "W 7p that when she is not voluntarily
involved in the transaction that the money goes 7°aR>. Therefore by 5"2
where she is not voluntary involved, the 5"12 belong 1°axb. We derive from
5"31 that that the father may retain money even if he is not involved (as in
5"3 of a 7OIRIW 77W1), therefore it follows that he should also acquire her 793
TUITR even 1s she was Xy w7pn and he was not involved.

THINKING IT OVER

' It is self understood that the more one is active in acquiring the money, the more right he has to retain
those monies. By 2R »"vw 1Pw17p the father was totally active and the 77¥1 not active at all. It is understood
that it belongs ax%. By "2 the 77v1 was not willingly active in acquiring the 5"2 (as she was not active
by 2R »"yw PwITR); we therefore can compare the two and derive that 5"12 belong 77°28%. One we ascertain
that the father receives 5"12 even though he was not active at all, we can then compare it to 771 °"yw PWI7T°P
where the father was not active at all and nevertheless he can receive the 7"w17°p 703.
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1. mdoIn initially answered that since the father can be w7pn her nn1vpPa to a
"o 91, therefore this extends to oM w1 (also) but not to 7n732.'° Then
mooIn rejected this distinction.'” How can we explain the two sides of this
1ssue?

2. Initially'® we assumed that the question m1vp n"57 72°X) is referring to the
108 of "n2 nX. Subsequently N1901N concluded that it is referring to the 1"'p of
D1 WP 9apn AR knwi. What are the relative advantages of each
interpretation?

3. mooin stated that the father should receive the 82 since he can be wpn
her P13 to a SMn.'” However she can also be wIpn herself to a 5M1n, so
why should he receive the 5™a rather than her?!*

16 See footnote # 5.

17 See footnote # 9.

18 See footnote # 10.

19 See footnote # 14.

20 See n"nx footnotes # 135-9.
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